Y

pr [ GeV/(] [2.0,2.5] [2.5,3.0] 3.0, 3.5] 3.5,4.0] [4.0,4.5]

1,2] 1067 5+ 1L g4t 20+ Tl gg7t 19+ 59 y50F 27+ 39
[2,3] 688+ o8+ &1 g30F 10+ 42 500f 08t 39 361t O08F 30 9q8F 12F 29
[3,4] 34.9% 177 38 2867 08T 21 234F g4F 29 158F Q4T 1% 946703073
(4, 5] 1555 07F 13 1276 9357 088 1017F 033 F 69%  7.53F 03T 07 3.61F 040052
[5, 6] 730 02T 080 5.63T 40T O 440F 04T 035 3.07F 43T 033 193008 T 03:
(6, 7] 4.097F 055F 030 287 041 039 214F 0T 918 1.43F §0T 043

(7, 8] 1.86° 018 F 045 1577 98T 043 L15T Q08T O49  0.690 T 005 T 005

8,9] 0.984 7 003 T 0050 0.866 = 0:021 T 0:0es  0.622T 00 TO0%  0.40F §OTE B4t

9,10 0.758 £ 0073 0055 0.488 T 010 T 803 0.470 T 9041 T 5055




